Chemical Equations Name

Workshaet |

1. Defina “reactant”;

2. Define “product”;

For questions 3 & 4 use the the rxn: CH,+ 20,3 CO,+ 2 HzD
3. What are the products? 4 Co 2z i) U 2 0

4. What are the reactants?___ CHi + ) ¢

For quwsﬂbns 5-9, list how many of each atom is repregented by the coefficlent
and formuia:

5. 3H0 o+ 30U
o)

6. 2aMgco, A~ Ma 2L Ly

7. smgN,__ A Mo 4+ g4 N

s

) T
8. FeNOy, L1L .M ¢ p

9. 2Fe(NOy. A Te YN 2 o

Balance the following equations:

10. A Mg o+ N> Mg,

RIS : .. Fe +7Cl>7 FeCl

12. "V AgNO;  + AICIQ-&E AgCl  +  AHNOg)s
‘13. ACu  * ZnClk > Zn + 4. CuCh

4. CaCO;> - céo + €Oy -

15. C1;!szo,, -—)\:;i;c:;' + 11 H0

16. CaHi:0s  +L 0 36 CO, + f;r HeO

17. 2Ny +5 0,90 NO:
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Balancing Warksheet Name

Balancing Chemical Equations Coefficients - telf you the number of atoms or molecules.
An equaticn must be balancad - it must have the same number of each atom on both sides of the
equation. To balance an equation, you are only alfowed fo change the coelficlants.
NEVER CHANGE SUBSCRIPTS!
Tips for Balancing Eguations: (trfal and enor)
a. If an element appears just once on each side of the equation, try balancing 1t first ("cross
over" the cosfficients) ‘

b If the same polyatomic ion appears on both sides of the aguation, treat it as a single unit.

c. if an element appears by itself on one side of the equation, try balancing it last. (Use fraction
if needed, then eliminate fraction.) _

d. A balanced equation must have the icwest possible whola number ratie of coefficients.

1. Wirite a balanced equation for the following rxn.
Chiorine reacts with sodium bromida to produce bromine and sodium chioride.

Y, ooy ’ .
Cle +2NgBr =2 Bro +2 Na¢|

2. Write a balanced eguation for the foliowing rxn.
Sadium hydroxide reacts with aluminum chicride to produce

aluminum hydroxide and sodium chloride,
; L gg 3 Vi
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2 NagH + Aicle
3. Write a balanced equation for the following rxn: g-
Potassium reacts with sulfur to preduce potassium silfide.

S € ;; E‘;f : {ﬁ
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Balance the following equations: Y 2

ry

Av - 2 45
{5, "Catirg #7202 P CO2 +5H0

/ 4.4.Cr+5 Nigr, 31CrBirs + 3N

B Hz+ 010

—~ 8.3 Al ¥3FeCl, Y7 Fe +lAICk
7.2 Na+ Cl 3 NaCl
8. A MgO 2> *Mg + O,
9. Ca(OH);» Cal+ H0
107 MgCly +2 NagPQ4 -» b NaCl + Mgs(PO.).

- 1 Fe +70; 9* Fay0,

12. Ny +3 H; I NH;
133 H,50, + *AOH); > Al{(SOuJs +
14,/ Na +. H,0 = 2MNaOH + H;

M

16.2 HaPO4 43 Mg(OH); AH0 + Mgs(FO):

17. CH4 #2320,  CO, +2HO

18. CoHials D C + £ Hz0

19.0 AINO3)s +3N2.S > ALSs + (NaNQ,
@ g Cs"‘ho@? *’% 0,35 902 +5HO

21.3 H§ 1IFe(OH); > FeS; +( H:0

22,3 Ph{NOs)z #AICl; >*PLCL; AANO):

23, CHeOs *%\O” 34 CO, +3HO
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